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TNPSC GROUP 1 TEST BATCH - 2020
TEST XXII - MENTAL ABILITY & CURRENT AFFAIRS (JAN, FEB 2020)

1.  Which of the following state has decided to undertake a study to assess the pollution
caused by micro-plastics in coastal areas, estuaries and lakes?

a. Gujarat b. Tamil Nadu c. Odisha d. Karnataka

&LBeomll uGH @6, BHS H(WWmBeT LBEBID  gfleeisd BT Llenmerdigdh  HifleyHemTed
gmUBL wrauT L AT OFwsusBaTar uialamer GBoETeTen S L O (BeiTem  LOTHEVLD
o151?

a. GYTH b. s0ETG C. QloaT d. sjprLsT

2. Which of the following was the external Funding agency For Chennai - Kanniyakumari
Industrial corridor project?

a. New Development Bank b. World Bank

c. Asian Development Bank d. European Bank

CFeiemen — searaiwm@of CSTHIBCULML H L SHHBsTen Oeual B HiBieueTd 61gH?
a. yPHw euenyFd eumid b. 2 s umd

C. o flw aueni&FF eumi d. sGuminiul eumisd)

3. Who is the first transsexual panchayat union ward member in Tamil Nadu?

a. Sandhiya Rani b. Riya

c. Pratika Yashni d. Rahini
SODHTLIET (IPHeO SHHphiens oagml & el eutf® o miniery wmr?
a. FhAHwWT  gmevfl b. flur

c. MpdHam wragef d. graeoh

4.  Choose the correct statements?

i. Greater Chennai Corporation declared Elliot’s Beach in Besant Nagar a ‘Litter free
zone’ on January 6.

ii. The sixth phase of Keeladi excavations started on January 2, 2020.

a.i, ii b.i c. ii d. none of the above

gflmer gpeps HIb0SHE.

1. Quaail pafleveTen slelul &SLBH] OFearenal GUIHBBIT Awmed ‘GLenLSETBB  LD6WIL 601D’
ol eeaufl 6 LD BTeT SPlaldbasliulL g

ii. &y SsbeaumyriiFfuler oupmd &L uailseT meteufl 2, 2020 eJ(HbHeH OSHTLMISLILIL L 6.

a.i, ii b.i c.ii d. gaifevenso

5. Which of the following city is installing “smart poles” in various parts of the city?

a. Bangalore b. Hyderabad c. Chennai d. Cochin
BEIHH LevCaum B miseriled “eroom. Gumederd” &g Mmiealujeien LleTeud HBILD 6157
a. QIR GTHT b. mamsymuTs C. QFeienent d. Gasrsdlen
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6. Choose the correct statements.

i. Karnataka has received an award from the centre for Best performance in Road safety.

ii. Tamil Nadu to hold the annual pulse polio immunisation camp on January 19, 2020.

iii. The Thiruverkadu police had introduced first set of boards with QR codes recently
within their limits.

a. i, i, iii b. ii, iii c.i,ii d. i, iii

Fflwrer gppisemensd CHIHOHH.

1. amemevll urgiemIded Fplurer OQFwelUT BETs WLHHW FFlear  alHms  SIHTLST
QumBEIeTENG).

1. geeufl 19, 2020 @0 euLMBAHT CurelBur  CETUISSGBLL  (WHTD  SLOPSSHH60
HEOL OILIBBSI.

iii. HmHCouBar® Gumelerd SiaTseilen eevemevd@Gel QR @pBuih OBTewi LisvendHmeN (HdH6ede0
OB CFUIGHI6eNTeNT6].

a. i, ii, iii b. ii, iii c.i,ii d. i, iii

7.  Who received the Thiruvalluvar award for 2020?

a. N. Ramachandran b. N. Nithyanandha Bharathi
c. K. Samarasam d. M.S. Mathivanan

2020 &1 FH(HeueTEHeUT al(HEnSLI OLIBBeUT WimT?

a. N. gmo&gaphdyest b. N. plswrenbs Uy

c. K. #woyaib d. M.S. &euremest

8. Who launched the Swachh Survekshan League 2020?

a. Hardeep Singhpuri b. Rajnath Singh

c. Kamalnath d. Dr. Harshvardhan
“Swachh Survekshan League 2020” g3 GOaTLmid eveudhgpeut wimi?
a. amirgHl dm b. greyprs Hmi

C. BIDGO BT d. Dr. aniay eursHer

9. Which bank launched the MANI app for the visually impaired?

a. SBI b. Bank of Baroda c¢. RBI d. Bank of Maharashtra

uryemeud GemUT® 2 eeneuTasEpbosear wewl (MANI) Gowelenw Geusiluil Beienm eumid 61g?
a. unys enGLL eumid b. uGymLr eumid

C. @bFHw fFTel eumid d. wasmradgyT eumis

10.  Which Indian defence service has banned the use of Facebook by its personnel?

a. Indian Navy b. Indian Army

c. Indian Air force d. Territorial Army

abd @hHW  UTHSTIY LD  DIHT  LolWTenTHel  (IPSEHIMeL  LWSLBSHS  Hewl
ol SHaleleng?

a. @bl BLMBLEML b. @b ByTemieud

C. @hFHul alloTeriLenL d. eTebemevLiLienL BFTemiaD

11.  World’s largest meditation centre inaugurates in
a. Chennai b. Hyderabad c. Mumbai d. Bangalore
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2 eudle &Ll FHwmer WD 6HIG SHleumsILL (BeTerng?
a. QFesTeneot b. mamgyTUTS C. (pLbenL d. QuEIsEHT

Consider the following statements regarding the “one planet one city challenge”.
1. It's a Friendly competition, organised by World Wildlife Fund for Nature (WWF) to
mobilise cities to deliver on the Paris agreement.
2. Thelogo of WWEF is a Red Panda.
a.1,2 are correct b.1is correct
c. 2 is correct d. None of the above
“@um Gamell @ BHBJD Feumed” OHTLTUTET LlaGeUmDd SnBuisenen S,
1. Bz umfled QUUBSHIHBSG  BBIBIBMET — Sewl  HIBuSBETE  BUIMBNSHDHDHTE0T
o susenmaiw BHwd (WWEF) gBur® Gsuls mlumer Gumiiuim@Lb.
2. WWEF e GeurBasm eumed dlauliy UTERILT 2 6iTeng).

a.1, 2 g b. 1 &M c. 2 g d. GuBaewi gaihevenev

Kuno - Palpur wildlife sanctuary, recently seen in news is located in

a. Gujarat b. Assam c. Kerala d. Madhya Pradesh

&Gemm  —  umeOUT  euealeVmIE —FTewITeOWD FUSHHW  CFuiFHsealed B IDOUBBH. DI
QIERIRIE

a. GQYH b. &5mb c. Gayenm d. wgsHw 1Ix8saD

Which of the following statements about ‘One Nation, One Ration Card scheme is/are

correct?

i. The scheme enables ration card holders to purchase food grain from any Fair Price
shop within the country

ii. Tamilnadu has granted administrative approval for implementation of this scheme.

a.i,ii b. 1 c.ii d. None of the above

“@m BTG @ GBLU S’ SHLb G TLTuTer Uaeumbd FmBriseaied Fhuwimearemel eene?

1. @b HLHHT cpeold GOBUOU DOl 2 6TeNalTHel BT BE&H6T 6lhdh HWml  alenevd
BmL&6160 Gouemt(BLOTETEVID 2 _ewtayll GUIM(HLS6N6N GUTHRISHEVTLD.

ii. sOPETH Bbd FHLESMS BOLWOBLILGSS Bifeurs @LLsHe0 Siefsaienendi.

a. i, ii b.i c.ii d. gaifevenso

Who had won the International Women Awards (IWA) 2020 in the category of best

woman performer in architecture?

a. Ponni M Concessao b. Sheila Sri Prakash

c. J. Maheshwari d. C. Lalitha

&L dBmeouied FApliums GaFweoul L GQuenroenl aaiB LNflaled FTeuGxha Guemiager alhad 2020
& Oleuaimeul wimr?

a. Qureriel M smesTQFGaT b. afeor uf ysTad

c. ] wBsageur d. C. evedgm

Which of the following is not one of the three important components of Accessible India
Campaign?

a. Built Environment Accessibility

b. Transportation System Accessibility
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c. Skills and Employment Accessibility

d. Information and Communication Eco-friendly Accessibility
SIEIBHInQU @HHWT Guyemiuiler cpaiml (WHHW Fnpiseilsd BeLe0THSH 61517
a. BLLMWSSLIULL SFBDIFGLP0 SIgISH6D

b. GuUTsGaIHHI SO DIEDIH60

C. FHmer wBmId GeuemeveuTullil] SiewIsH60

d. aBBIGLM UTHGHETSH HDHeUeL LBEBID CHTLTL DleEmIsH6ed

17.  SEAD Initiative is related to
a. Prevent Antibiotic Resistance b. Energy Efficiency
c. Cyber security d. Skill Development
SEAD giouss wpupd esHell 61 QFHTLTLemL WighI?
a. QLENQUWITL 98  eIHTIemUS HBHSHSH60 b. euBBed QFWEOSH 6T
C. Benewiul LITSHIHTLIL| d. FHmper euenitsd

18.  Consider the following statements?
i. Department of Military Affairs (DMA) has been created in the Ministry of Defence
(MoD) and it will be headed by the Defence Minister.
ii. General Bipin Rawat was appointed as the Chief of Defence Staff.
iii. Chief of Defence is not a ministerial position and it is first time in the history of
Independent India that a uniformed individual will head a government Department.
Which of the above statements is/are correct?

a. i, ii, iii b. ii, iii c.1,1ii d. i, ii

Leteupld SnBuISmen LU1H

i. UTSHISTIL  SIDFFHITRSH  SITanel  aleuETIRSeT SHMBemL 2 (HeuTHEL6TeNSI,
LTSHISTILSSHIND DIDDFFT BFHBE HMEVMLD UL

ii. HEMEUMLD LITHISTIL] Disvieuevrmd Omgenred LIlesr greud muwibldasiiul (heitenmit

iii. HEMGUMID  LITHISTLILITONT — 6T6ilLGH  SDIMDFFHD  FMTheH UHalwlevev, &HHHT BbHW
augeuTmMled  (IPH6L (WEdBWITS  @h FHeOLL  UeollwmenT fler HewmeE HEN6VHLD
st

GupaeniL gmppiseiley Fflwimeieney eTeneu?

a. i, i, iii b. ii, iii c.1,iii d.i,ii

19.  Consider the following statements regarding Digital Village Programme.
i. Digital village was conceptualised by the Common Service Centre under the Ministry
of Electronics and IT.
ii. The citizens can avail various e-services of the central and state governments.

a. 1, ii are correct b. only i is correct

c. only ii is correct d. Both are incorrect

9l L 60 &PTod FHLID CHTLTUTET LNeTeU(hHlD FnBmISHemen LIS

1. I L6D &SmO 6IWIB  S(HSHHWevnerdH el  LOBMID  HB6UeD  OHTHEVHIL LI
SIMWFFHHH S GuTgk CFemer ewLDWID cPeOLD 2 (THEUTEIS

ii. GYL&H&H6T LeGauml SHHUW! LoBBID WIHey DF&HsHeiear Semenil CFameausemen ] GILIBELTLD

a.i, ii & b.i w' @b A

Cc.ii @ &M d. 8rewiG Heum
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20.  Consider the following statements regarding India 2020 energy policy review.

i. Ministry of power in partnership with NITI Aayog, released in-depth review of India’s
energy policies.

ii. The first in-depth review of India’s energy policies examines the country’s
achievements in energy sector.

a. only i is correct b. Bothiand ii are correct

c. only ii is correct d. Both are incorrect

@hHwT 2020 HBBed QBTeiTensd LHULTUIR] LUBBIW LNeTeubHd SBnBISMmeT SIS

1. SLBBEL  HIMLEFFHD HFH HCWUTHGLET Bemenhd BObHH SBBe0 OdTeTens LMWL
SLoTenr W HLLTWIe|mrewl Geueiluil (Heengi

i. ObHw HBBeL GaTeTensd LBBIL (PSH6D SLPLTET OGHIUTUICUTETISHI SLTTUISBE! BT 1960
SBBL FHlMBUlET FTHEMTHEN6T SLITUISBS

a.1 w @b & b.1,ii w @b &M

c.ii wl @0 &M d.i, ii seuy

21.  Project Shashak is related to
a. Personality Development Programme through social service
b. Comprehensive Medical care facilities to Central government employees.
c. One time cash incentives to pregnant women for institutional births through skilled
assistance.
d. Aims to strengthen the credit capacity, credit culture and credit portfolio of public
sector banks
‘Project Shashak’ eteiiLigy 611 GFHmLTUTeNGI?
a. gwpd GFmeu cpevldTdH G6emibevet GCLGSHHID FH L LD
b. wsHw s emPuiTsepdbsrar alflourear WHbH CFamel aIFH B
C. QHpmB 2mEHHHOHTMHWTEIH STULNwN OLETSEHHE HMenOWITeT LIewIWTETTSHET  eLeVLD
GYhmsd Cup SlefsslILBGEDBS
d. uTEIGSHIDB RS GeNe SHLEBIHBET, SLT LWILTH (PdB BB SL6T  BeUToHTene
aUIMLLILBHSID GBTeHad

22.  Choose the correct statements about National Anti-profiteering Authority (NAA).
i. The authority’s main function is to ensure that traders are not realizing unfair profit by
charging high price from consumers in the name of GST.
ii. NAA is headed by the Ministry of Finance
Which of the above statements is/are correct?

a.i,ii b.i c. ii d. None of the above
Gxpdw BeurLl eI SHIFHBTID CHTLTUTET FRWLTET FnBBISEN6T SH6WIL 15H
1. GST  eeor  GQuuwifled  ellwmumfaeT cpeold  HISTCMTHSNLD SHbHH DiHs  Liewild

AUGHISBLILBHINSH HBHHH6D
1. Bz NP SMLFFSHHE Hemevenouied OFwIeOLIBGESIBSI
GuoBsewiL. gmBmIHerile0 gFilwmetenel eene?
a. i, ii b.i c.ii d. gaifevenso
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Choose the correct statements regarding,

National Investigation Agency Amendment act 2019.

i. It empowers the agency to investigate offences committed outside India, subject to
international treaties and domestic laws of other countries.

ii. It allowed the central government to designate session courts as special courts for the
trial of scheduled offences under the act.

L1

a.i,ii b.1i c. ii d. none of the above
Bxdlw allgTyenewt Semly HHSHSHFFL LD 2019 QFTLiiumen sflwmer SnBpisemen SewiL s
1. Bz GhHwuralBg OeauelCu BoOLOUBB GBuhsmer algtyamen Osuiw  FiauGsHs

QUILIHSRISET OBMILD BB BTG FLLBISEHHG 2 LU G DHSTID eUpEGHI MBS

1. Obs FLLSHGT S FLLOLOU L GBBrsmer algmioss SiwTe HHWAMHMmS FHmLi
BAHLSBLOTS B wg)ﬁu_l TFHG DMIS WSS BSH

GopsemiLsuBplel ST SnBBIHeT eTeneu?

a. i, ii b.i c.ii d. @mal ggIdevemnev

Choose the correct statements about Neutrino Observatory (INO) project.

i. India based Neutrino Observatory is a particle physics research project under
construction of primary study atmospheric neutrinos in deep cave near Theni in
Tamilnadu.

ii. Itis a mega science project fully funded by the Department of Atomic Energy (DAE).

a. i, ii b. i c.ii d. none of the above

Bl MGem semismeniliLg LD QHTLTUTer Lleaeumd gmppisefey gflwimearenea seneu?

1. Shgwurenel  SQLLIDLWTSS  OoTewi  Blull fGeam  sewisTenliLTaIS  6u6ITLD6IIL 6V
Pl fGameser uBBlw  (pHeTmD  ule]  SLGLTSISHHET S HHeT  HuBLiwied
SITUIEFS SILLLOTGLD [OES SLODBHTL 196D () SI(HF6L SLLPLOTET

GMBLILGSHUTgI6eTeN .

ii. SIIFHH  BBeL  Hiempullesr epeold (WpewowTd B Qupid Wasleuflw  pfeluwed
S L DTG LD.

a.i, ii b.1i c.ii d.

Which of the following Southern state announced ban on single use plastics from January
1, 2020?
a. Tamil Nadu b. Andhra Pradesh

c. Karnataka d. Kerala

QUH (POB LWSILGSHHID Llenmerdigd QUTHL Sewen geteufl-1 2020 (p&Hed HewL OCFuigleien 6gest
LOMBI60LD 6137

a. sOWHTG b. apSrilyGsaid C. SIBIL&IT d. Gsyerm

India’s first Turtle Rehabilitation Centre was planned to sep up in

a. Tamil Nadu b. Bihar c. Madhyapradesh d. Odisha
BHHWTalle (LPHe0 OLeMLD LOBIOITIDE| 6MOUID 61THIF DIMSHSLILL. 2 _6iTeng)?
a. sIODBTH b. i c. whpHw gBxHa1d d. qugam

Kalapani border issue, recently seen in news is between which Countries?
a. India and Bhutan b. India and Bangladesh

AP 10|
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c. Bhutan and Bangladesh d. India and Nepal

&eomUenll  eTeoemevll LITFFement FUSHW QFUIHwnein BFH  6hH  BIGBEHHEG SenLGul
o oiteng?

a. @phHWT OBEBID L TeT b. @pHwr wBBID aBISCHFID

C. Lmer LoBEmID eumisGHad d. @pHwur wBpid GpuTenD

Which of the following state has sighned an agreement with the IUCN to prepare a Red
List Assessment of all orchids in the state?

a. Arunachal Pradesh b. Uttar Khand

c. Karnataka d. Meghalaya

Leeu(blD 6b& LOMHIGVLD LOTHEVHSHT DIMTHEH THL  D6OTHEHSHGWD Feully ULl iguied HILIH
swmieas [UCN o Lear @uubsd OFuigiereng.

a. S(mHTFFeLILITGHFID b. 2 gaysmemi_

C. BT &M d. Gusmeowr

India’s first e-waste clinic was opened in

a. Bangalore b. Hyderabad c. Bhopal d. Pune
@bFHwmaler (PpHed Waisle] mBUITEHD Hleneowld 6imiG SHBeHHULL [BeiTerngl?
a. QUIBIBEIHT b. mamgymuTs c. Gumumed d. yGer

Choose the incorrect pairs.

I. Tamil Nadu - Amma Unavagam

II. Karnataka - Indira Canteen

III. Maharashtra - Shiv Bhojan

a.ll b.lllonly c.Iland III d. none of the above
SHAUBTET EenewTenild &L lsb.

I. spBThH - SIDLOT 2 60TeUSLD

II. BT sr - @bHFHwT 2_ewreusld

III. wayradgym - Feou Guregest

a.llwced b.Hlw' @G c. II wppid 11T d. GuoBEewtL  61&I00606m60

Inida’s first ‘fruit train” was flagged from.

a. Renigunta Railway Station b. Kadappa Railway Station
c. Guntur Railway Station d. Jadipatri Railway Station
@bFHwmeler (PpHeo “Lp Bguied” amiG GCamouiengsaiul L g?

a. GrewlgewiLm Gyuisdmemeouid b. sLiur Gyuied mMlemevuwid
C. GBI @ruled Bleneoulld d. ggrdugfl Bruied Beweowid

The Integrated help line number of Indian Railways is

a. 131 b. 113 c. 139 d. 193
AbHw BruietBouuier QmmFmeanhs 2 SHall erewmr
a. 131 b. 113 c. 139 d. 193
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Prime Minister Narendra Modi inaugurated and delivered the inaugural address at the
107th Indian Science Congress in

a. Gandhi Nagar  b. Delhi c. Bangalore d. Hyderabad

WyswT BCrhdy Gumg 6mig BOLOUBB 1076ugh @bHw Spflealuied WIETLML BT &
mAUHH DIFHD CFHTL S5 2 ] HHDHHerT?

a. &b HBIT b. GLeved C. QUIBIBEHT d. ewamsyTuTs

The ‘Santusht’ portal is related to

a. Speed redressal of women

b. Speedy redressal of Grievances of SC/ST

c. Speedy redressal of employees and employer’s grievances

d. Investigation for child labours

‘Santusht’” Genewiur (1psLiy THE@IL 6T CHTLTLHL Uig?

a. QUeNIBEHHHTI allenIauTer &6

b. SC/ST ufelelier @mpaendsrea alamyalrea &)

c. emfluiTse BE@ID (pHeoTelseller GempaeEndasrear alamyauret &ie]
d. eubmsdh OsTHeoTenTaer LBESIL eIFTTen6uT

Choose the correct statements about citizenship Amendment Act 2019.

i. The act was passed by parliament on December-11

ii. Received President’s assent on December-12

iii. The CAA will not apply to the Tribal areas of Assam, Meghalaya, Mizoram and

Tripura

a. i, ii, iii b. ii, iii c.i,ii d. i, iii

Gwflemwd gL HmSHD 2019 Qmiumer Fhwmer sFmBBIsemend CHThHOHB.

1. @b% FLLID LAJTEHLOGTBSHSH0 FDUT 11D BreT BenpCaummrilL gl

. abuT 12 b BT GWIdisHdHmevalfler @LiLiGemeol! GLBBSI

iil. @uufmsd HmeHHEF LD Fmd, Guwsmeowr, WEsTyD, SHfygT wLIH6e0  LIPEIGIQUT 6T

UGHBEHHSGL CUTHHBTHI.

a. i, ii, iii b. ii, iii c.i,ii d. i, iii

Choose the correct statements about NEAT initiative

i. It waslaunched to customize learning process using Artificial Intelligence

ii. It will be a common one-stop to technological solutions.

iii. It will be implemented by (CSIR)

a. i, ii, iii b.1i,ii c. ii, iii d. i, iii

NEAT giouss wpwwupd uppslw silwner gmBmisen eeneu?

1. @3 GFwBems Heweoenalll LWETLIBHSHSH SBMeO (LBl  HellHHIeUDTHS
OHTLMISLILLL .

. B5 OHTHEOHIL L SHTe HEHHHTR CQUTHIEUTET 6(H &L LD

iii. CSIR @aemerr QFuwisOLIBSHSH0| 616N S).

a. i, ii, iii b. i, iii c. ii, iii d. i, iii

The “‘Saksham” Campaign is related to

a. Environmental Protection b. Fuel Conservation

PR L0 |
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c. Road Safety d. Poverty Alleviation
‘Saksham’ Guiyen?l eTHaIL 6T GHTLTLEDL WIS

a. SBBIFGLO LTSHISTLIL b. emOummeit Galiiiy

C. &MemevLl UTSHISMLIL d. augemn @il

Choose the correct statements about Anglo-Indians

i. The term Anglo-Indian first appeared in the Indian Independence Act, 1947.

ii. Parliment passed the 126t Constitutional Amendment bill, doing away with the
provision of nomination of Anglo-Indians to Loksabha

a.i, ii b. i c. ii d. none of the above

SyEFGom @hdHwiTser uBBlw sfwrer gapenssh CHTHOSHE.

1. omdGor @HHWT eaiBp LS (PHedlsd BbHHW &SHHTEF FLLLD 1947060 BHTeipsiuigl.

1. uTITEHLEIBD  126-6ugk  SFflweoeniolil FLLSHHSS WEFTHTmer  BlenBGoumnsluleiengi.
WwéHHeMmaluled SmSHGor GhglwiTsmen uUfbaieny OFuiams BHHGHaSI.

a.i, ii b.i c.ii d. GuoBaewiL gaiIdeoenev

Choose the correct statements about Good Governance Index.

i. It was published by NITI Aayog

ii. Tamil Nadu has topped the Good Governance Index.

a.i,ii b. ii c.i d. none of the above
peveoT F @PWiG uppw gflwmer gaBenssd CabhoSMH

. @ B 6wrssted GeusfulLLBS B

ii. SOIDETE Heveor e GBIuiliged (W&HeIL HHeveiTeng.

a.i, ii b. ii c. i d. CuoBaewiL gaiflevenev

Women, business and the law 2020 report is published by

a. International monetary Fund b. International Women’s Forum
c. World Bank d. World Economic Forum
QuemTEH6T, UTSHHHD BE@ID FULID 2020 Spfidamas wmymed Oeueful i’ L g?
a. seuBss mrewiw HHuwd (IMF) b. s1euBmhgF GLewIE6T LOGTIBLD

C. 2 V& GURIE d. s7euBse QUTHENTSTY LGB

One Nation One Ration card Scheme will be implemented across India from

a. January 1, 2021 b. June 1, 2021

c. June 1, 2020 d. January 1, 2020

“@m CaxFb @ GBLU SILmL” FHLb GhHwralsd OHTLRISILGLD BT

a. gavreufl 1, 2021 b. efei1 1, 2021

c. o8eir 1, 2020 d. sgereurfl 1, 2020

The Supreme Court of India has held that Right of access to internet is a Fundamental
Right under of Indian Constitution

a. Art 19(1) b. Art 20 c. Art 21 d. Act 19(2)

DweSHmSH DG o Mevwwrargd Sl o fleno el 2 _FFHHSBD bW
SITFenLoliL 6ot &1 S Fnplueitengl.
a. glLaamp 19(1) b, slisamp 20 C. FLL&Imm 21 d. sl damp 19(2)
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43.  Who is the Chairman of the Commission established to examine Sub-Categorisation of
other Backward Classes (OBC)
a. G. Rohini b. R. Banumathi
c. Indu Malhotra d. Indira Banerjee
@57 UBLESSILLL eu@llearflar slenent aumSILTHSM6T SLITUL  DINLSSLILIL (BT & (peles
SHEN6VAUT WIMT?
a. G. Gynale b. R. ureing)
C. b3l WweLGeuryT d. ®@pHyr umeed

44,  Choose the correct Statements about Corona Virus

i. China - reported the first death due to corona virus in the city of Wuhan.

ii. Corona viruses were first found in humans in 1960’s.

iii. The virus can also infect catlle, dogs, pigs, camels and birds apart from human beings.

a. i, ii, iii b. i, ii c. ii, iii d. i, iii

CanCymenm emeugerd GHTLTUTET FHWTET FnMBBIH6eT 6Teneu?

1. oysmer mafled CHETCImGeIT  Meugerd HMIEVIOTS (IPHL @MU HHWDbHHAH oter  Feorm
Silel SleTeng).

ii. Qam@ymGem emeuTerdaE6T Walihefsd 1960&6M60 (PHEI(LPEHBUITS HEWILMSIWILILIL L F).

iil. @b eveugavTerg LelsHe LGN  STOHMLH6T, BTUISET, LIGSI®H6T, 6L L HHmIH6NT,
LBeneUS6T DLSUIBMBES SHTHESLD.

a. 1, ii, iii b. i, ii c. ii, iii d. i, iii

45.  Match the following

A. World Hindi Day 1. January 12

B. National Youth Day 2. January 10

C. National Hindi Day 3. September 14

D. National Girl Child Day 4. January 24
A B C D

a. 1 2 3 4

b. 2 1 3 4

C. 3 1 2 4

d. 3 2 1 4

QUTHSHHIB

A. staBss @hd dHed 1. ereufl 12

B. B8l @ewenehT Hlewrd 2. ggevreufl 10

C. Bxdw @hd dHed 3. GFUbur 14

D. Gxflw Quewt Glopbds Herd 4. mereudl 24

A B C D

an o
N = RN
_N W W

1 4
2 4
3 4
3 4

APRE LD |
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46.  Choose the correct statements about fifteenth Finance Commission
i. Chairmanship under N.K. Singh
ii. Recommended for period of 2020-2025
iii. It recommended 41% share of revenue to the states
a. i, ii, iii b. ii, iii c.i,ii d. i, iii
15618 BHesGHw uppdw sflwmer saBpismend CHiHo%HMH
1. N.K. 1 @zer seweveuT
l. 2020 — 2025 &mevHFHBE LfbaiemTssliul LG
iii. Bz WwHemsErdd almaruied 41% uniseldss ufbsmrssal

a. i, 1i, iii b. ii, iii c. 1,1l d. i, iii

47.  MOSAIC Mission is related to
a. Study of Artic Climate
b. Study outer corona of sun
c. First solar power spacecraft to orbit Jupiter
d. None of these
MOSAIC fiagen 6IdaIl 631 GBHTLTLENL WIS
a. SITYd SHTeUHleneveW DLUIe] GlFuiwl
b. @fweier Qeueliius CarGrmemeney yuie] Gauiul
c. alwmpesh@ WHe0 Gfl 858 allewigeold
d. Guisemi gaiIflevemed

48. Choose the correct statement about Tamil Yeoman

i Tamil Yeoman is the butterfly endemic to Western Ghats which has been declared
the state butterfly of Tamil Nadu

ii. Tamil Nadu became the first state in the country to declare a state butterfly

a.ionly b. ii only c. bothiand ii d. none of these

SO ger OFHTLTuTer Fllwmer gBpisemensd CHTHOHH

1. SLOD GJLO6T UEHIETHBHIL LLFFBH6NT @mgj@ OHTLTFS emevedWl UTIHL 1OTHS O\BTERIL M6,

@3 FOPBHHE THIL auaHieNISHBHI LFFHWTE SBlaldbsliul (BHeTeng
ii. SOIDHTH BT 96T OMHeV suemiaiSHHIL LFFmw Sfialshs (LpgHev LOMHIeVLTEGHLD
a.i w @G b.ii w @D c.1 Bmib ii d. @men gsIdevamev

49.  Which of the following statements about 2019 World Air Quality Report is / are correct?
i It was released by the pollution tracker IQ Air and green peace
ii. The ranking is based on a comparison of PM 2.5 levels
iii. = Bangladesh emerged as the most polluted country for PM 2.5
a. i, i, iii b. 1, ii c. ii, iii d. i, iii
gauCss &Mhm HJ SMibmae 2019 uBBlu sTwmear FaBDIG6T Tameu?

1. Bz smBm wis seavisteniiy [Q wBpid usmp DewdHwred Geueful LLGHEBE
ii. PM 25 genaset Uil ougliuenuled syaufleng Sienwobaiemeng

1ii. aumisten Gxgb PM 2.5 o1s oifsene] otaUTG OSTERIL BTLTS 2 _6Tengl

a. i, ii, iii b. i, ii c. i, il d. i, iii

PR L0 |
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50. Choose the correct statements about National Commission for Sustainable Agriculture.

(NCSA)

i It has been formulated for enhancing agricultural productivity especially in rainfed
areas

ii. It promotes location specific integrated / composite farming system

iii. ~ Use of land survey, soil profile study and soil analysis

a.1,1i,1ii b. ii, iii c.1,1i d. i, iii
Bemsowimerr Geuenmenteniod e CHdw @G uBpslw gflwrer F@Boismend CaThoHMH

1. LomeoTTeurfl Blevmiserled Gouemmenst o BuUSHSHlenl OB USHBHTH B g
9 (IheUTSHSLILL (HeiTerng)

i. Ba GPuILL ugHular pmdmanbhs / il B aleugmu (Wampewl 266G albH Bl

iii. Blov SWISHOHGBLIL, Wewl aleuy SLU1e| WBEBID W LGUUTWIa|SE LWweTLBHLD

a. i, ii, iii b. ii, iii c.i,ii d. i, iii
51.  Which of the following statements about one stop centre (OSC) scheme is / are correct?
i. It was established across the country to provide integrated support and assistance
under one roof to women affected by violence both in private and public spaces
ii. The OSC support only women below 18 years of age
iii. =~ The scheme is funded through Nirbhaya Fund
iv. It was formulated by SAKHI Ministry of women and child development

a. i, ii, iii, iv b. ii, iii, iv c.i,ii, iv d. i, iii, iv
b Pmiss eowwbd Hrw (OSC) Gsriurer gflwmer saBupiseT eemeu?
1. SOlUULL  Slebevgd Utz @)L miserils0 @umas@as@aagﬁurram US(PMBHEHHES — (h

GmLUIe S HhSmenhd 2 FHal HewLdbd BTH (PUPUSBID BBt (HeTeng)

ii. OSC &L 18 auwudB&L UL CQUetTEEHdHE@ WL (B 2 Healdbdnlguig

iii. piruwm B& cpeod BhsH HLD BHFHusel GUBISBE

iv. ®s  SAKHI, Guewiser wBmld  GwhmdHseT — GUUTLH  DIWDFFHHST60
619U S LILIL L G

a. i, ii, iii, iv b. ii, iii, iv c.i,1i, iv d. i, iii, iv

52.  Choose the correct statements about Atal Jal Scheme

i. It is a World Bank funded, Central Scheme

ii. It is aimed at improving ground water management

iii. It will be implemented in seven states

a. i, ii, iii b. ii, iii c. i, iii d.i,ii

SIL6L M0 HULID OFHTLTUTET FHWTer FnBBISHeT eTeneu?

i. Bz 2 s amd HHwsal GUBID WHHW HILIOTEGLWD

ii. Bovsslg BT GCsurenienoenl GubLBHHleumsd ChToHsLTE CETaRIBaTaTS

iii. 8z g rBleomiseafed BpleuliL o eiTeng

a. i, ii, iii b. ii, iii c. 1, 1ii d.iq,ii

53.  The official committees that have estimated the percentage of people living in poverty in

India are
i. Y.K. Alagh Committee ii. D.T. Lakdawala Committee
iii. Suresh Tendulkar Committee iv. C. Rangarajan Committee

e
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a.1,1i,1iii, iv b. i, iv c. 1i, iil d. ii, iii, iv

AhFHwmeled eumlenoulsd eUTIPD WHFET FHaIHHMB SpUle] CFUISH DIHSTILILTEN  (&FH(DHDHSH6IT
6T6m6u?

i. YK seors ew ii. D.T. evdgeumeor @

iil. 58763 OLeWIBHELBT &1 iv. C. JRISITeeT @D

a. i, ii, iii, iv b.i,iv c. ii, iii d. ii, iii, iv

54.  Lunar Evacuation System Assembly (LESA) is related to
a. Commercial Lunar Lander of NASA
b. Rescue an injured astronaut on the lunarsurface
c. Polar rover to scout for water
d. Successor to Chandrayaan - 2
Bleveys@iw GeuelGupmid Siemwiiy Fewu (LESA) eigeieir Osmient wigi?
a. praTeler euemia Heve] GevewrLiT
b. Bevaler ugliled smwiemLbsh alawoalel afjisamen W G Lewl
C. Howieniony HewiL Ml Himeu Gymeuf
d. FpHImUST 2-6@ DBHH HMS

55. Human to Human transmission of Corona virus can happen through
i. Respiratory droplets ii. contact iii. fomites
a. i, ii, iii b. i, iii c.i,ii d. i, iii
welHellel(hhdH eldHmisbd CaETCImem meuged 61Hei 6UPUITS LFQLD
1. aeungsd geflser ii. CaHTEH6L 1. o HewrslLESHHW QUT(HL &6l

a. i, ii, iii b. 1i, iii c.i,ii d. i, 1ii
56.  Xenobots is

a. Artificial Intelligence (AI) based Super Computer

b. India’s first humanoid robot

c. World’s first living robots

d. Half Humanoid Robots

QFGeumUITL 610 6TEITLIG

Cewmbens mHiewiewipley Fmihsd Gbul L sHemwflel
@bFHwmaler (PpgHed el Lewi] Osmen GrmGum
2 eudlel (pgev 2 ullmeiten GrmGumdaei

urg) wellgll e Gaemewi GymGuim

aooe

57.  Choose the correct pairs regarding India’s assistance and the countries associated
i. Operation Vanilla : Madagascar
ii. Operation Samudra Maitri : Indonesia
iii. =~ Operation Maitri : Bangladesh
a. i, ii, iii b. 1, ii c. ii, iii d. i, iii
@bgwraler o el WwBEID OSTLTLmLW BIGseT uppslu shwrear Qeamenienuld CHThosh
1. GleuemTemileor [BL6UYHMES : LOL BTNV
ii. FpHIT gl BLagdHmE : QHCHTCaFwim

APp&L0)
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a. i, 1i, iii b.1i,ii c. 1i, 1ii d. i, iii

= L0

Mangdechhu hydroelectric power plant funded by India is developed in which country?

a. Bangladesh b. Afghanistan c. Nepal d. Bhutan
@hHwmaler B o galujLer 6bsd HThH WRGOLFSH HTHer HemeowbHms 2 (HeuTdhadlulereng?
a. aumsBHaID b. eylistafevsrear ¢ Gpumemd  d. L mer

Surajkund International Crafts Fair 2020 was held in

a. Haryana b.Assam  c. Arunachal Pradesh d. Madhya Pradesh
FITe) GhsH FTaulsHs mBalmeriCUTheT SewiaT g 2020 amiG BHoLOUBBEHI?
a. emflwment b. ierveromid

C. SmamFFeoLlf@HFID d. wHAWNCHFID

According to Traffic Index 2019 which of the following city was the world’s most traffic
congested city with drivers?

a. Dhaka b. Bangalore c. Mumbai d. Delhi

Cursgarsgd Omflgsd @XPuih 2019861 SPidmaliLy o adlar Wses SHs BurdbGaurdHa
OBfged OBTeniL [HBILD 61517

a. LM b. QuFisEHT C. (pLDeyLI d. GL6vel

Choose the correct statements about Tangi application

i It was launched by Google

ii. It aims to promote news literacy among Indians
a.i,ii b. i c.ii d. none of these
“Tangi” Ggweld upPw sfwrer sBoiEmens CoHTHOHMH

1. BF FG6T HBIISTSHST0 SIBI(PWSHILBSHSLILIL L S

ii. @3 ObFHwiseEprdssamL G CFulgh seoalupiena omsbGHalb@Gld ChToHsD GCleTamIL Gl
a. i, ii b.i c.ii d. gaifevenev
EASE 3.0 is related to

a. Banking reforms b. Electoral reforms

c. Tax reforms d. Bothaand b

EASE 3.0 eigani_ei1 Q& HTL T enL_wigh)?

a. aumd FTHHSHHLD b. Bzxiged FTHHSHHID

c. aufl FTHHBHID d.a By b GyewiGd

The first anniversary of the National war Memorial was observed on

a. 21t February 2020 b. 23rd February 2020

c. 24th February 2020 d. 25t February 2020

Bxpdlw Gunit HenemeysFFleiasdler (pHeoTomenih Hevme| alpm eICUTEH GamemsrLm il L g)?
a. 21 dtgyeufl 2020 b. 23 Wigeufl 2020

c. 24 iigeufl 2020 d. 25 Wgeudl 2020

APp&L0)
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Choose the correct statements about G-20 Nations Meet 2020
1. It was held at Riyadh, Saudi Arabia

ii. It discussed the global economy and the risks from the corona virus epidemic

a.i,ii b.ii c.i d. none

G20 prpsen Fhdiy 2020 Qsmitumer gflwmer gmBpismend CHhoHH

1. ®a a8 SCriwmalesr Mwrddled HenL CLBBE

1. Ao 2 vxd OuTmeMTHTID BB C&sTCrmem  CaTBXICHTUIST  SUTWD  GBISHS
aleuT&HSbHLILLL )

a. i, ii b. ii c.i d. gaiievenso

The Young Blue Hole (YBH) was discovered in

a. South China Sea b. Arabian Sea

c. Mediterranean Sea d. Caspian Sea

Bemd Bevd Hiewen (YBH) emig sewipfwiiii Geteng?
a. O Ferbsl 60 b. opidsL e

C. HHAW HWJHBL 6D d. smedllweT L 60

The largest cricket stadium in the world was build in

a. Calcutta b. Delhi c¢. Ahamadabad d. Mumbai
2 cudlen aLOUflw HfM&HCEL HTaID 61miE SLLLILL (heTengl?
a. HLBHDHT b. GLebed  C. SiBLHTUTS d. penui

The current Chief Information Commissioner was

a. Sudheer Bhargava b. Vijay Sharma
c. Radha Krishna Mathur d. Bimal Julka

SBOUTMSHUI HEN6VMIDSH HH6U6D DLENGIIWIT WITT?

a. &ST uTdeur b. afgui &imor

C. BITHT B (HAFEWIT LDSHSHTT d. e gSdeom

Central Excise Day was observed on

a. February 21 b. February 22

b. February 23 d. February 24
WHFHW HeoTed HreT eICUTH Dignigfebsliul L gl?
a. dgeuf 21 b. Wigyeud 22

c. Uigyeufl 23 d. iyeud 24

Which of the following state established the First Disha Police Station?

a. Kerala b. Karnataka c. Telangana d. Andhra Pradesh
(PHEL HAOT SHTAUL HleNeVWID 6% LOTHIEVSHH 60 BmIeuliL (Beiteng?
a. Gayenm b. sipTLsIbD C. OHeVIMISTEIT d. aupdrniyBsaid
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Who is the Tamil Poet received the Bal Puraskar Award for the year 2019 by Sahitya
Academy?

a. Sabarinathan b. Piraisoodan

c. Devi Nachiyappan d. Vairamuthu

F1HHHW DBTOeHOUT 20195&Ter LT6D LJer0sTT all(hgl Oeueiy SHODd HallehT wimt?

a. FuNBTHET b. Lenm@sL e

c. Gxpal BrEFAwliLies d. eweuy(psa

Which position does Tamilnadu occupy in organ Transplantation during 2019?

a. First place b. Second place c. Third place d. Fifth place
o miy wiBE Spemel FHFmFuled 201989HD DLEIYed HLOWHHH T B LD 6T6d160?
a. (PpFHev BL 1D b. @gewiLmd SLIb C. cpaBID @LIb d. ;pambd GLib

President Ram Nath Kovind presented the President’s colours Award to
a. INS Arihant b. INS Shivajic. INS Vikrant d. INS Viraat

Ghwras sSmevaufler ‘colours’ almens GWUWTSGS HeevauT IMbBTsH Caralbs &&
GULDMIS|GOTTIT

a. INS eofanhs b. INS deure) c. INS alsymbs d. INS efgm"

Who was the head of “Shri Ram Janma Bhoomi Teerth Kshetra Trust”?

a. K. Parasaran b. Ashok Bhusan

c. S. Abdul Nazeer d.S.A. Bobde

“ufgmo Oeio LWl wiHHemy UGH CBTewiG BHBeuaTshSler HeneveuT Wir?

a. K. ugmayesr b. 9Gs1s a6

c.S. olged BET d.S.A. umiBs

Municipal Performance Index was released by
Ministry of Housing and Urban Affairs

NITI Aayog

Ministry of Home Affairs

Ministry of Housing and Urban Poverty Alleviation

oo oe

BBIT. & QFweouT (B @Puil e 61z OeuellulBamg?

a. ol (heussd LOBBWID BSTILB leUBTIRISET SHENB DIENLFFHLD
b. P& oBwnrs

C. 2 GTHIMDB DIWMDFFHLD

d. ol B eusd wBBID BSTILB aIBIEND QO] DIEDIDFFHLD

Choose the incorrect pair Regarding “Sister Cities” under Smart Cities Mission

i. Varanasi - Amritsar ii. Pune - Dharmasala
iii. Ahamadabad - Chandigarh iv. Bhopal - Shillong
a.i, ii b. iii C.iv d.ii

APp&L0)
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“OQurelaym BBIEIBET HLSHHST B FCHTHN BHIEIBENT CBHTTUTE HUBTET Een6wTenlish
SBITCITH

1. eutgewind — SIOTHFTer0 . YyGer — siTogmeor
1ll. SIBSHTUTSH - FewTgHT iv. Gumumed - egleveoTml
a.i, i b. iii C.iv d. ii

A town, 65% people watched the news on television, 40% read a newspaper and 25% read
a newspaper and watched the news on television also. What percentage of the people
neither watched the news on television nor read a newspaper?

a.b b. 10 c. 15 d.20

QM bBEML 65 FHald WHHeT HTmevdsTl d OFuldh urTsHsem. 40 Fseaisd usHHfms
LYSHSHIT. 25 FHAIFHD OCHTene0HHTLFUD HWIH GHBEHD LIQSHHIT 6IaGIBIe0 6IHHMeT FHaIH
&S BTewiBLD LIWGTUGBSHSTLO60 E)(HHSH60TT.

a.b b. 10 c. 15 d.20

I bought fruits from the market in a bag. Looking at the bag, my daughter asked me about
the quantities of fruits. I replied all are oranges except 15, all are mangoes except 20, all the

bananas except 25 how many fruits are there in the bag?

a. 40 b. 60 c. 50 d. 30

Brer  Fheoduledmbal @ muuied LIPmISeT eumhidl  eaubGHe. UMW  UTTHS 616l  LOS6I
LmIS6Te  eTewenldbamdmul CaLLTel. 15 Hal] 616060TD SLTEhdF LIDMIS6T 61aimID, 20 HHRISEVTH
SIMATHFHID  OTDLPEISET, 25 [DHhIGBUTS DIMDSHSHID  UTEPLILPEIS6T  6TIBID  SnpslGevtedr.
mUUWIeV(BHS LIpEISeTen OLOTHS 6T6uwIenihend 6166 !

a. 40 b. 60 c.50 d. 30

The number given is 5894327614. We inter-change the first and the second, the third and
the fourth, the fifth and the sixth and so on. Then when we count from the right end,
which digit will be the sixth?

a.3 b.2 c.4 d.5

OaThHsalILl (helTen  elewl 5894327614, @&He0 (1pFH6e0, BIEWILMD 6I6WIH6T  Q&MledT @ &H3H60
LOBOBTSIBID,  CPSTBID-BTAIGD,  WHHID-WId, BH  Cumeiy BB eTewIdEHD B LD
wrBplLGSamear.  eaevdl  Gamouiled @bHbHEHI  clewwIenllenmed 6hEH 61wl YBTaUH B HFH6e0
B mBHGD?

a.3 b.2 c.4 d.5

In the series

641228742153862171413286

How many pairs of alternate numbers have a difference of 2?

a.2 b. 4 c.6 d.8

641228742153862171413286
aaiB  OaTLfed QBB QHIm  aamiseTs  ashHemen GCmmoseiear albHuUTFD 2 eT6dh
BITGUOT&b:

a.2 b.4 c.6 d.8

A book contains 300 pages. Each page has 32 lines with the same content, how many
pages will the book contain if every page has 24 lines?

AP 10|
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a. 350 b. 400 c.425 d. 375

al0auTh USEHHD 32 afllemens CsTMIL LSHEsHHen OreHsl ussmser 300. 6%
Qauig) @alteum(p USBHHID 24 eaufldenTds SHHFSTEL, LUHHBHHET OLTHHL  LSHSMBIS6IT
sleleueTeUTS B(HBGHLD?

a. 350 b. 400 c.425 d. 375

81. In a zoo, there are rabbits and pigeons. If heads are counted, there are 200 and if legs are
counted, there are 580. How many pigeons are there?
a. 90 b. 100 c. 110 d. 120
QH FTEITEOWSHHOD Fov (LPUIELSHEHD F60 LBTHHEHD EHHHEN. HEN6VHM6N HewIdbH B CUTH)
2000 oI8xBumed  HTeLHMEN HewiHBH(BL CUTH 580D EHHHE GTeNeD  THHEWT  LBTHBEN
Baboe
a. 90 b. 100 c. 110 d. 120

82. A student got twice as many sums wrong as he got right. If he attempted 48 sums in all,
how many did he solve correctly?

a.12 b. 16 c. 18 d. 24

@@ memieuedt GumlL 48 sewibGHelled Fflwms GCurlLeng ol Syewi(h LKIG SHUBTSH
AAmiden, sflwres GUTLL HenIdb@EHEH6lT 6616667
a. 12 b. 16 c. 18 d. 24

83.  Position of A is 7th from the left and position of B is 9t from the right and they exchange
their position. The position of A is 11 from left. Find number of persons in that row?
a. 20 b. 19 c.18 d.21
o euflmguled A e BUT BL& LUBSHeO BbbaH 7T-usHTHad, B eaems BUT el
UBSHH60 BbBhIH 9-euSTHaD SohleTenet. Lleenm @eual(haumd @heUHBOSTHeUT @)L L1b
LoTBPSCsTemIL 6. @UOUTIWa& BUT A BL & UBSHHed BHbeH 11-0uHTE DIDTHSBIETENTT 6Teul60
lelaflengulled o 6em OLOTEHLH LOTEWTEUTH6N 60T 6T6mT6ul N ?
a. 20 b. 19 c.18 d.21

84. A class starts at 10 A.M and lasts till 1.27 P.M. Four periods are held during this interval.
After every period, 5 minutes are given free to the students. The exact duration of each

period is

a. 42 minutes b. 48 minutes c. 51 minutes d. 53 minutes

@m augly 10 AM &g Qgrimg 1.27 P.M. &g WodBg.um_miser GG FID
Ufwesenms BLSSUILULG eelbeur, Tflwdselsar (wyalsd 5 BILOL M6 LOTETEUTEHETHES)
QUIe| SILILGSBSE eelled h Liflunger &meo DI6TT6)  6T6o160T?

a. 42 pliL_miseit b. 48 Mo miseit c. 51 Pl miseit d. 53 P miseit

85. In an examination, a student scores 4 marks for every correct answer and loses 1 mark for
every wrong answer. If he attempts all 75 questions and secures 125 marks, the number of
questions he attempts correctly, is
a. 35 b. 40 c. 42 d. 46

AP 10|
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b GBxiTaled q@h wTeweuT Fiwmer oledl  @EICUTAIBISGEGILD 4 WHICLMIENID Q@ HeUBT6
alemL&@ 1 wallouem SPILHID CUBIFEDBTT. 75 alambseEndsd almLweishs 125 wHIGLIewT
CumpTed oeuT Fllwns el wefllss alamebser egaHemen?

a. 35 b. 40 c.42 d. 46

86. There are 2 examination rooms A and B. If 10 candidates are sent from A to B, the number
in each is the same. If 20 candidates are sent from B to A, the number in A is double the
number in B. The number of candidates in room A and room B are respecitively.

a. 100, 80 b. 180, 100 c. 20, 80 d. 120, 100

A oBpb B eaam Qrewih Cxieuemmseiss A eleis  Diewmuledmbal 10  omewieuTseT Ba@
SI@ILIUL LT Byenih DienmHeiled © 6o  oTewTeuTHellel slawienidbams Fwob. Bsd @mbaml 20
OTEnTeUTHET A ol SlewBHEG SD@IUIUILLTe0  Aed o 6fTem  LOTewieUTHeT  Bsd 2 eiTen
reauTdment GuTed @ WLMIEG 6aled, A, B oimpseisd o 6en omewieuTwerle elemtemntdbamnd
(pemmGul

a. 100, 80 b. 180, 100 c. 20, 80 d. 120, 100

87. A voluntary organization planted a total of 106 trees along the road side. Some of the trees
were fruit bearing trees. If the number of non-fruit bearing trees was two more than thrice
the number of fruit bearing trees, what was the number of fruit bearing trees planted?

a. 20 b. 22 c.24 d. 26

QUH  Heienite OCFTewi® Hpeuetd @b Bl GCEBehsTeneoulsr S LBmIGSaTeDd LOJmIS6N
BLL&. SeuBpled dev el SHHD LOJBISET, S HITH LOJEIG6TN6IT eTewienldbemd SHell  SH(HLD
wymiseller  eremienibamauiler cpaipl WLERCHTH GSFewiedl.  gnllgenmed eU(hlD. Gomhsd 106
WOJBIS6T BLLUULG GS[BHIHT60, Hell SH(HD LOJHIGH6T6IT 6T6mTenloHemnsd 616116616, ?

a. 20 b. 22 c.24 d. 26

88.  Consider the following statements

i. Gopal is shorter than Ashok but taller than Kunal;
ii. Navin is shorter than Kunal;
iii. Jayesh is taller than Navin;

iv.  Ashok is taller than Jayesh.
Who among them is the tallest?

a. Gopal b. Ashok c. Kunal d. Navin

Leleu(blD FnBBIbenen LIS

1. Gamumed eraiUT SICFTH-y all o WD GHOBHDHEUT LEITeDL (GH6eWIMe0-3 il o Wb

DIFHBLD O\BTERIL AT

ii. BT GTGILIGIT (GH6emTe0-23 @l © WD GmMbHHe.

iii. OmBway ereaT Halwen @l o WD SHHHD BT GUT.

iv. 9185ms eraiLeT OCWed-y ol o wyh HHD CBTEIL6UT 616360 BauTserilen
o Wyl SFHHD OBTemiL [BUT wmT?

a. Gamumed b. 91@g1s C. G6WIM6V d. peier

s ’ I

89. If ‘+" means ‘minus’, ‘X’ means ‘divided by’, ‘+" means “plus’ and ‘—" means ‘multiplied
by’, then which of the following will be the value of the expression 252 x 9 —5 + 32 + 92?

AP 10|
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a. 95 b. 168 c. 192 d. 200

+ GG BPHHEO 6IHIBID X GTRILUSHI UGHH60 6IWMID, + 6IHLUBH Fnl L6D 6D, — 6TRILIGI
OUHBHL GTHTEID TIPS L6 LleTauheuadieumpled 252 X 9 — 5 + 32 + 92-a51 I e1HIUTSH
BmHGSID?

a. 95 b. 168 c. 192 d. 200

If L stands for +, M stands for —, N stands for X, P stands for +, then
14N10L42P2M8="?

a. 153 b. 216 c. 248 d. 251

L eeiug + eteoipid, M eaiug — eteipid, N eaiug X etaimid, P eladiugl +  eIedmib
st Lmed 14 N10L42P2M 8 =7

a. 153 b. 216 c. 248 d. 251

If '~ stands for “division’, “+” for “multiplication’, ‘+ for “subtraction” and “x’ for ‘addition’,
then which one of the following equations is correct?

a.4x5+9—-3+4=15 b.4x5x9+3+4=11

c.4-5+9%x3-4=17 d.4+5+9—-3+4=18

— GAIUGH UGHHH6L eIWIBID, + eIHIUGH OCLHBHD CIHIWID, T TAILUSH BPSHHEL GIAIMID, X
GRILG] Fnl L6V 6TIBID 61IPSIILILLT6D LleiTauheuateuipled Fflwimeriens et
a.4x5+9—-3+4=15 b.4x5x9+3+4=11

c.4-5+9%x3-4=17 d.4+5+9—3+4=18

If TRIANGLE is coded as SQHZMFKD, which word would be coded as DWZLOKD?

a. DISMISS b. DISJOIN c. ADJOINT d. EXAMPLE

TRIANGLE aeigr SQHZMFKD et @MUl Ll Lmed, SpoHsewiauBmIe  6lhdh  aUTTHedd
DWZLOKD eremm @pluiLini@Gn?

a. DISMISS b. DISJOIN c. ADJOINT d. EXAMPLE

If ROAD is coded as URDG then SWAN is coded as

a. VXDQ b. VZDQ c. VZCP d. UXDQ

ROAD saaiiugy URDG etenr @puie i Lmed SWAN eraiiugt eteleurm @miuie Liu@io?
a. VXDQ b. VZDQ c. VZCP d. UXDQ

In a certain code word ACEG is written as 16 and DFGH is written as 25 then how can be
written HIKM

a. 36 b. 41 c. 40 d. 39

ACEG e auniidens 16 etenayb, DFGH et auniidens 25 eteviod @pldsiulLrsd HIKM
616N QUTTHEMS 61HG 6TemTenIme0 @GN baLILBLD?

a. 36 b. 41 c. 40 d. 39
If DOCTOR corresponds to the numbers 4, 15, 3, 20, 15, 18 then the

numbers 3, 21, 18, 5, 19 corresponds to
a. CUTES b. CURES c. CUBES d. CARES

PR L0 |
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DOCTOR ereiugy 4, 15, 3, 20, 15, 18 s aewisens@iwug ealed 3, 21, 18, 5, 1988w
GT6MIB6T  (GHMILILIG)

a. CUTES b. CURES c. CUBES d. CARES

TAMIL is coded as RCKK]J then MATHS is coded as

a. KCRJQ b. KCRRU c. RCKKU d. RCKJQ

TAMIL eegip Gsmed RCKK] eaeid  @muil Lrssd  GQauiutu’Lmedo  MATHS  eranib
Cameoasb@flw GBuiLrésbd 6g?

a. KCRJQ b. KCRRU c¢. RCKKU d. RCKJQ

Which one will replace the question mark?
Ueteubld UL SHeHHSH alBLL L 6TemIenemnid &HiT6uldb.

41 51|29
7131 R
6 | 8 | 62
a.25 b.31 c. 39 d. 40

Which one will replace the question mark?
eitaupd LI $He0(hhSHI NBLL L 6TewTen6nTd  BHiTewIb.

913 8 |2 121 6
72 60 ?

a. 102 b. 68 c. 108 d. 96

Statements: All green are blue. All blue are white.
Conclusions: 1. Some blue are green. 2. Some white are green.
3. Some green are not white.
a. Only (1) and (2) b. Only (2) and (3)
c. Only (2) d. All of these
AUTHE WD : DIDOTHFH LFDHF BHBRISEDHD HeO HBRISET DG, DIMDIHSDI H6v
BBRISEDHD OleueTensN HIBHIGH6ET SLGLD.
e : 1. fev Hov HIBMIGBET LUFHF HBHIBET LGLD.
2. dlev Oleueitenen HBMIGET LFMF HBRIB6T DLESLD.
3. dlev LFMF HBHIB6T CleU6TEN6T HIBMIBET E6LEN6V.
a. (1) wBpb (2) W' @G> b, (2) wB@ID (3) WL GO
c. 2 w @ d. somearsaid

AP (0|
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Statements : Some ants are parrots. All the parrots are apples.
Conclusions: 1. All the apples are parrots.
II. Some ants are apples.
a. Only (1) conclusion follows
b. Only (2) conclusion follows
c. Either (1) or (2) follows
d. Neither (1) nor (2) follows
aUTHH WD : Fev eIBIDL 6T Hlefldenm@G. Dewearshd HeldeEnd SIT6THeT SLEGLD.
we| : I. swass  oleiseEnd Heildem &b
II. dev er@IDLBET S ITNETHET DG LD.
a. (e 1 wL G0 &4 b. wwe 2 w G0 &f
c. 1 oevevgl 2 i d. 1 opbevg 2 FHuieoew

A Railway clock strikes once at 1 O’clock, twice at 2 O clock and so on. How many strokes
will if strike a day?

a. 300 b. 156 c. 250 d. 78

@ Oguiled mHemeow! &P&ETID | Wenld@ @HSID 2 awidh@ @Jewi(h S, 6IeIMBeTHI LD
60EGLTH SIMWEBILLIQHHSTE0 @ BHI6He0 DISHQSTID Lawl 60oHHSH60T 6leuirenfhemnsd

a. 300 b. 156 c. 250 d.78

A pineapple costs Rs. 7 each. A watermelon costs Rs. 5 each, X spends Rs. 38 on these fruits.
The number of pineapples purchased is

a.2 b. 3 c. 4 d. Data inadequate

SISTRMFALLPD  QAIOMTETBID FH.7 BOD, SHTULFRT @QAICTEIBID hH.5 SubaDd 2 eener. X
eTeTleUT @UILIPmIG6T60 .38 CFevall(BHMIT 6leed, SGUT GUTRISIU DIHTETTHLILLPEISET 618 FH6M60T?
a.2 b.3 c. 4 d. elugib GUITHIDTETIHE06V

A man ate 100 grapes in 5 days. Each day, he ate 6 more grapes than those he ate on the
earlier day. How many grapes did he eat on the first day.

a.8 b.12 c.76 d. 54

QUHAUT  @eUGeuT(H  BTEHLD  (WhHdHW BTeT  FTUALL  HIT engseier elewuienidmabenal 6
Hymiemgser FmBHeord FTUNGSBTT. 5 BT L Selle0 100 HITLenaFHel ST LT6O (PGH60 [HT6IT
ST Tl L STl engseiler erenienllbend 6166 ?

a. 8 b. 12 c.76 d. 54
P is father of R. Tisson of Q. V is brother of P. If R is sister of T. how is Q related to V?
a. Sister-in-law b. Niece c. Nephew d. Cousin

P ereiuaut R-air gpews. T etesiueut Q-e51 wadesr.  V eleiiueut P-ai1 #@angym. R eremueur T-eir
FCaxafl eiafled, Q eraiiony V@ 6hdh auemdbuled 2 mey?

a. MG Gle0N

b. s@snsye/ #FGaraflule wasei

c. #8anaya/ FGaTHIUNGT DB

d. fesiiuer /Ouilwiiueier o6t (&1)as6i
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Rajat was born on March 6, 2009. The same year Independence Day was celebrated on
Saturday. On which day Rajat was born?

a. Friday b. Thursday c. Saturday d. Monday
g2ms eleiiLel] omTE 6, 2009 oeiiml LUIBhsTT. 916 audBLSHSH60 SFHHAT BT Fellbapemo
SISIB CaTediLmL LUl L& 6efled, 5 6lhd Hrelled LImbalmliumest?
a. Qaueitel b, elwimpest C. FaldbalpamLo d. Hrise

If a clock shows 6.45 AM, what is the angle between the needles?

a. 90° b. 45° c.22.5° d. 67.5°

BYEMHHe0 &Tewev 6.45 eflGHID ST _BHaBH  aale0, DHaT CHILeTEHHESLD T
(P6NTEHHGHLD QewLulled ST (HHle GHmemnild eTeiresr?

a. 90° b. 45° c.22.5° d. 67.5°

Complete the series 1 ZA, 3 YB, 6 XC, 10 WD, ?

a.14 VE b. 15 UE c. 12 VE d. 15 VE
1ZA,3YB,6 XC,10 WD, ? aiei3  suflengenws mylis
a.14 VE b. 15 UE c. 12 VE d.15 VE

A is elder to B while C and D are elder to E who lies between A and C.
If C be elder to B, Which one of the following statements is necessarily true?

a. Aiselderto C b. Cis elder to D

c. Diselder to C d. Eis elder to B

A eaeuaut Beow elL epsspeut. C wppid D eudGunt E enw ol cpdHeauiser. E  sreieur
A oo C awgsdbe BoLiulLet. C eagiueT B 6@ wHsat eefed, &SLDdoemi
FppIsefed 61k aflwimerg?

a. A eeueut Cenw el cpdgeu b. C aeueum Devwr &ilL cpdgeu

c. D aemueut Covwr el cpdgHeum d. E eeeut Bevw el cpddHeut

Pick the 1st, 2nd, 4th, 5th and 6th letters of the word 'REASONING’, form yet another word
and then write the 1st and the last letters of the word formed

a. OR b. NE c.SE d. ES

‘REASONING’ eeiB3  aunmiidenguienn (pHed, SIewiLTeugl, [BTeTETouSHl, bhSTaudh  LOBBID
SUBTEUS 6T(RSSHIBBMET BSSI @b LU UTTHMSUI 2 _(HEUTHE DIHET (PH6O 6I(IRSHMBLLLD,
S TIRSHMBHWD 61PNV DI

a. OR b. NE c.SE d. ES

Meena ranks 21st in a class of a fifty-one. What is her rank from the last.

a. 30th b. 32nd c. 20th d. 31st

51 Gujy OamewiL sau@lled Lemale Syeufleng 21 eefled, Sleuelen SHyauflend senLduledmbal
1S HemenTLITeUg?

a. 30th b. 32nd c. 20th d. 31st
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(Q.No: 111 - 117): What number should replace the question bank?

eteupld eremreuflenaullelt OIBSHS 61631 6163631 ?

68, 64, 32, 28, 14, 10, 5, ?
a. 1l b.2 c.3 d. 4
3,15,7?,63,99, 143

a. 27 b. 45 c.35
3,28,4,65,5,126,6,?

a. 215 b. 216 c.217 d.218
0, 6, 24, 60, 120, 210, (?)

(A)290 (B)240 (C)336 (D)504
7 8 4 13

A.-7

30227

B.-10 C.-12 D.-14

234 5,
ﬁ’s 5525’
a5\/§

1,8,9, 64,625,749
A. 210 B. 212

6
gl
255

C.214 D. 216

(118 - 123): Find the wrong number in the series :
Cam@saslul L. OHTLed SIMIDHS HEUBTET 6CIERIGHGTS SHTCHIS.

10, 14, 28, 32, 64, 68, 132

a.32 b. 132 c.14 d. 10
1,5, 14, 30, 50, 55, 91

a.b b. 50 c. 55 d. 91
8,13,21,32,47, 63, 83

a.47 b. 63 c. 32 d. 83
25,36,49, 81,121, 169, 225

a. 36 b. 49 c. 121 d. 169

d. 56
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15, 30, 90, 180, 540, 1090, 3240

a. 3240 b. 1090 c. 540 d. 180
4,9,19,39,79,149, 319
a. 319 b. 149 c.79 d. 39

Three different positions X, Y and Z of a dice are shown in the figures given below. Which
number lies at the bottom face in position Y?

X, Y, oBpid Z aaip useml el GeausiBaim Menevsdeiled &G OQEThdalIUL (BeTengl. USmL Y
ufev £@Lp o 66N 6T6u0T 6@1‘7

()

a. 1 b.2 c.5 d.3

What is the opposite 3, if four different positions of dice are as shown below?
BTeTd OeuaiGoup Hlemevdenel  OCBTeWIL  LSLB6T SO  CarhaHsIUL(Beener. 3 6T6iB
eTeuITeuOT6NT  GTATLISES 61600l UITGI?

@ @ 9 @

(l.l) ()J)

a.6 b. 4 C. 3 d. 2

Two positions of a block are shown below. When 2 is at the bottom, which number will be

at the top?
Byewih OeuaiGouml Hemevsenen GCETEWIL LidenL 6T SO CaThaSLILIL (heiTemer. 2 616IMm 616w
SPlnssd DmbHTeo GoBev o eiterm eTewt 6157

(i) (ii)

[APP,Q Lu]
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127.  From the positions of a cube are shown below, which letter will be on the face opposite to
face with 'A"?
A e eISHH 6T TIAMTILSSHPETEN 61(LDHSHI 61517
il &, D D

a.D b.B c.C d.F

128.  If the following figure represents the outer surface of a dice. Which of the following pairs
is not on opposite sides?

1
6 2 5 ]
|
3
1
a.land 3 b.6and 5 c.2and 4 d.1and 4

SHHTEID UYalld @ HTwd sSLeLuler Goed ugliemu ST GEBEH. S OEThHoHslul L
BDewendHeriled o1& THTIHHRIBE0 DIHOUITSH E)en 6T ?

i
e[a 4]
3
1
a.land 3 b. 6 and 5 c.2and 4 d.1and 4

129.  If WORK corresponds to the numbers 4-12-9-16 then how will you code WOMAN?

a. 4-12-14-26-13 b. 4-26-14-13-13

c. 23-12-26-14-13 d. 23-15-13-1-14

WORK aaiug 4-12-9-16 o du  eemisepsGilwug  eaflsd WOMAN  eaiugl  eTteleumy
LTHBBLILIGLD?

a. 4-12-14-26-13 b. 4-26-14-13-13

c. 23-12-26-14-13 d. 23-15-13-1-14

APP& Ln]
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Raj starts from his office facing west and walks 100 metres straight than takes a right turn
and walks 100 metres. Further he takes a left turn and walks 50 meters. In which direction
is Raj now from the starting point?

a. North - East b. South - West

c. North d. North - West

grey  eTeILGUT  SIUTHIDIINIBHH0 BHHBHICLBGHmFCHTHS 100 LT CFamLBe Sieufe
aleugImd  Hepld 100 WBLLT GFeosprT. UBg GLsup Sl 50 WBLLT  CFeodmmi.
AUEUTWSHIOSTLRISW B HFH60 6hHHmaulsd Sieu LT oHSmmT?

a. QUL&IPHE, b. Qxa@GLBE,

C. QIL&G d. eu GuomBg

Which figure to come in the blank space?
srelTer QL SFHev 6bH ULLD euHLD?

oog|aCc| , |[JC(dr
oo{oga| ‘ |c3|rd

ir| ac ar j[:
o 1 JC C1

a. b. - C. ke d.

] .

Select the one figure that will complete the given series.
Car@asasiulBerer LLmIFSele0 GCxeTalb@BuilL (7)) BLsHaed @Lbous Geuswigul LIL Salene

BE® 7
/\/@\/-\

A D
a. A

(@)

Question Figures

a0 ?

APp&L0)
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Answer Figures

O|VIOA

a b C d

134.  Identify the figure that completes the pattern.
SpdsemiL X 6B LLSHemal LTHd Cguiw Semenids Geouewigwl LILLD 61gl?

] W A R
a b <

X d
135.
Problem Figures Answer Figures
@ N ? al/ | [R R
a b c d
136.  Problem Figures: Answer Figures:
LEXETYY ® oD | °° oo

TT.]:.

R TS T IS

A4 ® © O & O @ 6 @ O

a. 1 b.2 c.3 d.5

137. What will come in the place of a question mark?
Cxpetallds @PUILL @)L HFHeL euHD 6Tewt WITg?

a. M b.P d.S

APP& Lu]
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138.  What will come in the place of a question mark?
Caelallds GEUILL BL SFHed eUBLD 6T6w WiTgh?

a. 100 b. 81 c. 64 d. 121

139.  Find the missing number from the following figures.
Ueteubld UL SHeHHSH alBLL L 6TemIenenid &HT6mldb.

a. 8 b.14 c.10 d.6

140. Which one will replace the question mark?
eitaumd LI GHe(hhaHI NBLL L  6TewTen6Td  BHITewIb.

s} Q
%31 ?
56

d. 40

[ APP&S L0 ]

STuoy
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141.  Find the next figure in the given sequence:
Car@saiul L OaHTLMed SIBSHIHIUDBD UL SHMBHH HTewld

XK /X

a b c d

NIV XN

142.  Next figure in the sequence
@56HTLMNed 9IBhHPH UL LD

O] @LLIL
O

a ' b d

143.  Find the mlssmg term
(UL L 6TCUTeN6ITE:  HIT6IIH

a.12 b. 18 c. 16 d.24

144. A cube of side 4 cm is painted red on all of its surfaces and then divided into various
smaller cubes of side 1 cm each. Find the number of smaller cubes with only one surfaces
painted red.

a. 4 b.8 c.12 d. 24

APP& Lu]
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4 QF.16. UGB CBTHWIL @QH HOT FHTHHE DMOTHSH LSSRISEHD Feull] euemrend LiFul
Uer 1 Q.15 ussd Garew APl st Famisems Lfldaiul LT SeuBpled @@ LHEHHSH 60
LB euewtenTld LSl L Fpflul ST FHITHIBET 615 5H6N60T B HEHGLD?

a.4 b. 8 c.12 d.24

All the faces of a cube are painted with blue colour. Then it is cut into 27 small equal
cubes. How cubes are not painted on any surface?

a.0 b.1 c.6 d.8

QH SAFFHTHHS DMANSHHI LSSRIBEHD [Hev HBSHH 60 euewteniOlL UL (Beitener. LN6T] il
gwowmer 27 fAYw saiFsHmsaTs  Ceul LUuGHSmer. Seumplled 6hd  USHSBPLD
QUETERILOL LILILTH HIFFHITRIGENT 615HHENT 261161607

a.0 b.1 c.6 d.8

A man walked 30 metres towards south, took a left turn and walked 50 metres, again he
took a left turn and walked 30 metres. How far he is from the starting point?

a. 80 metre b. 100 metre c. 130 metre d. 50 metre

QR Wl CsBEL udbswres 30 WILT BLBS el QL& udssd SHombldl 50 WLELT BLbS
et ewipld GSL g udbsd Hpwll 30 WBLLT BLbSH o 6fenmer 6leled Sjeuet SYJLbLISHSH
BLFHe0 QBbHSI eleileueTial ST BLbSieTenTes?

a. 80 AL b. 100 WL c. 130 L d. 50 i

Rani walks 20 m towards South. Then she turns left and walks 40 m. Then turning to right
he walks 30 m. Again turning to his right he walks 40 m. Find the shortest distance
between the starting and the end point.

a. 40 metre b. 50 metre c. 60 metre d. 30 metre
grewl  OpME SHewguled 20 WOLLT [HLESBTEN. 2 | G @LUypores  SHmo 40 BT
BLSHDTET.  SlHoLed eueoliBomsd WLl 30 WOLLT BLSHDI6T.  SHHUaD 6u6eOLILBLOTS

S 40 WBLLT BLSEDBTET 6l OFHTLSHBHHBHH DBIHSITON GSMOBHILILF SHMNTHMDH
sewiBLiy?

a. 40 8L b.50 i c. 60 LT d. 30 8L

If WORDSWORTH is written by VPQERXNSSI, then DAFFODILS would be written as
a. CBEGNEJMR b.CBEGNEHMR

c. CBEGNEMOR d. CBEEGNHMR

WORDSWORTH ereiiuggy VPQERXNSSI et erpaptini Lired DAFFODILS er6liourm)
arpaLILL. Geuewi(BLd?

a. CBEGNEJMR b.CBEGNEHMR

c. CBEGNEMOR d. CBEEGNHMR

If TWITTER is coded as SVHTUFS then GLITTER is coded as

a. FKHTUFS b. FSHTUFS c¢.FHKTUFS d. FSKTUES

TWITTER eteiiugy SUHTUFS etenr @puiy Qummred GLITTER ereiug steieumm @nslui®
O, Geuewi(Bd?

a. FKHTUFS b. FSHTUFS c.FHKTUFS d. FSKTUES

If ANGLE is written as CPING then PLANE must be written as

e
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a. RNCGP b. RNCPG c. RNCQG d. RCNPG
ANGLE eaug CPING etenr etapsiin’Lmed PLANE ereueurm erpsliie Gouewi(BLb?
a. RNCGP b. RNCPG c. RNCQG d. RCNPG
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TNPSC GROUP 1 TEST BATCH - 2020

TEST XXII - MENTAL ABILITY & CURRENT AFFAIRS (JAN, FEB 2020)

1 2 3 4 5 6 7 8 9 10
B C B A C B B A C A
11 12 13 14 15 16 17 18 19 20
B B D A A C C B A B
21 22 23 24 25 26 27 28 29 30
D B A A D B D A C D
31 32 33 34 35 36 37 38 39 40
D C C C A B B C A C
41 42 43 44 45 46 47 48 49 50
C A A A B A A A A A
51 52 53 54 5D 56 57 58 59 60
D A A B A C B D A B
61 62 63 64 65 66 67 68 69 70
A A D A A C D D D C
71 72 73 74 75 76 77 78 79 80
A B A A C D D B A B
81 82 83 84 85 86 87 88 89 90
C B B B B A D B D A
91 92 93 94 95 96 97 98 99 100
A D B B B A B C A B
101 102 103 104 105 106 107 108 109 110
B C A A A D D D C D
111 112 113 114 115 116 117 118 119 120
A C C C D B D B B A
121 122 123 124 125 126 127 128 129 130
A B B B B C A D A D
131 132 133 134 135 136 137 138 139 140
D A A C C D B A C A
141 142 143 144 145 146 147 148 149 150
C A A D B D B B A B
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